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n=r*exp[(¢-E)/KT]

T ARE G
n=r*exp (2087/T)
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Plot [, (T, 800, 2300}, PlotRange - {{700, 2300}, {0, 15}}]
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Data: Data1_C
Model: ExpGro1
Equation: y = A1%exp(x/t1) + y0

Weighting:

y No weighting

Chi*2/DoF =6.19371

RA2 = 0.97239

yO -0.92656 +4 61889

Al 274001.80045 +1185747.90781
t1 -1.30886 +0.62876
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+ Equation: y = A1*exp(X/t1) + Yo

+ RMN2 = 0.97239

+ Yo -0.92656 4.61889

+ A1 274001.80045 1185747.907/81
« 11 -1.30886 0.62876
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Y=A+B*X
Parameter Value Error
A 1453727 0.63329
B -0.9286 0.04676
04 R sD N
-0.99622 0.13236 5 2.79108E-4
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* Y=A+B*X

* Parameter Value Error

%*

* A 14.53727 0.63329

* B -0.9286 0.04676

%*

* R SD N P

%*

* -0.99622 0.13236 b5 2.79108E-4
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Data: Data1_E

Model: ExpGro1

Equation: y = A1*exp(x/t1) + y0
Weighting:

y No weighting

Chi*2/DoF = 2.57948

RA2 = 0.99221

y0 1.87301 +5.09203
A1l 1.4663E-6 +0.00002
t1 0.53623 +0.53439
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Equation: y = A1*exp(x/t1) + Yo

R*"2 = 0.99221

+ Yo 1.87301 5.09203
+ Ar 1.40663E-0 0.00002
+ 11 0.53623 0.53439



Y Axis Title
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2.0 5

1.5 =

Y=A+B*X

Parameter Value  Error

A -8.81012 0.77144

B 1.34839 0.09404

R SD N P
0.99517 0.1225 4 0.00483
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Y=A+B*X

Parameter Value Error

A -881012 0.77144
B 1.34839 0.09404

R SD N P

0.99517 0.1225 4 0.00483
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